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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by Communalism ? Explain its 

causes.  

lkEiznkf;drk ls vki D;k le>rs gSa \ blds dkj.kksa dh 

O;k[;k dhft,A  

2. Define social deviance and its consequences in detail.  

lkekftd fopyu dks ifjHkkf”kr dhft, rFkk blds 

nq”ifj.kkeksa dks foLrkj ls crkb;sA  

3. Write an essay on ‗Increasing problem of pollution‘.  

^iznw”k.k dh c<+rh leL;k,¡* ij ,d ys[k fyf[k,A  

4. Explain the causes of poverty and its preventive 

measures.  

xjhch ds dkj.kksa dh O;k[;k dhft, rFkk blds fuokj.k ds 

mik; lq>kb;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss the following. 

fuEufyf[kr dh la{ksi eas ppkZ dhft,A 

1. Main cause of prostitution.  

os’;kòfŸk ds izeq[k dkj.kA  

2. Beggary.  

fHk{kkòfŸkA  

3. Social causes of suicide.  

vkRegR;k ds lkekftd dkj.kA  

4. White collar crime.  

lQsniks’k vijk/kA  

5. Ill-effects of alcoholism.  

e|iku ds nq”ifj.kkeA  

6. Unemployment and crime.  

csjkstxkjh vkSj vijk/kA  

7. Regionalism.  

{ks=oknA  

8. Juvenile Delinquency.  

cky vijk/kA  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following. 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k,A 

1. Prof. Yogendra Singh worked on ‗Sociology of 

Corruption‘.  (True/False) 

izks- ;ksxsUnz flag us ^Hkz”Vkpkj ds lekt’kkL=* ij dke fd;k 

gSA    ¼lR;@vlR;½ 

2. In India sixty per cent (60%) people live below poverty 

line.     (True/False) 

Hkkjr eas lkB izfr’kr (60%) yksx xjhch js[kk ds uhps jgrs 

gSaA    ¼lR;@vlR;½ 

3. Sarva-Siksha Abhiyan started in the year 2001.  

     (True/False) 

loZ&f’k{kk vfHk;ku lu~ 2001 ls izkjEHk gqvkA ¼lR;@vlR;½ 

4. Heroine is also known as white plague. (True/False) 

gsjksbu eknd nzO; dks OgkbV Iysx Hkh dgrs gSaA  

    ¼lR;@vlR;½ 

5. Poverty and crime are interrelated. (True/False)  

xjhch vkSj vijk/k varlZEcfU/kr gSaA  ¼lR;@vlR;½ 
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6. Reform work for juvenile delinquents started in the 

year 1851 in India. (True/False)  

Hkkjr esa cky vijkf/k;ksa dk lq/kkj dk;Z lu~ 1851 ls izkjEHk 

fd;k x;kA   ¼lR;@vlR;½ 

7. When persons are qualified for work, they want to 

work, but they did not get job/work, then this situation 

is known as open unemployment.  (True/False)     

tc O;fDr dk;Z ds ;ksX; gSa vkSj og dk;Z djuk pkgrs gSa] 

ysfdu mUgsa dk;Z ugha feyrk rks ,slh fLFkfr dks [kqyh 

csjkstxkjh dgrs gSaA   ¼lR;@vlR;½ 

8. NREGA Act passed in the year, 2010. (True/False) 

ujsxk ,DV lu~ 2010 esa ikl fd;k x;kA ¼lR;@vlR;½ 

9. According to Comte, ―Crime is violation of law.‖  

     (True/False) 

dkWEVs ds vuqlkj] ßvijk/k dkuwu dk mYya?ku gSAÞ  

    ¼lR;@vlR;½ 

10. Overpopulation is one of the important causes of 

crime.    (True/False) 

tula[;k o`f) vijk/k dk ,d egRoiw.kZ dkjd gSA  

    ¼lR;@vlR;½ 
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